TR KERERE (MTA K

H H N7 JEUEfE | 4H260 | TH13H [10H198 | 1H12H
o %; 1 |7 L3 Lk ER mg/Omitisneoze] T | T | ST | e
Bi gz | 2 |#askER mg/0[0.000524 F| <0.0005 | <0.0005 | <0.0005 | <0.0005
2% ﬁ 3 [mr3ma me/0| mr ot | <0.001 | <0.001 | <0.001 | <0.0003
B0 | 4 gn mg/0 0.01LLF | <0.001 | <0.001 | <0.001 | <0.001
ﬂzq W 5 |l mg/0| 0.05LLF | <0.02 <0.02 <0.02 <0.02
T ;’L\L 6 |t mg/0 0.01LLF | <0.001 | <0.001 | <0.001 | <0.001
2§ éé T|\EYTY mg/Omitisneoze] T | T | BT | e
)7%{2 %\ 8 |RVHi{ke 7 ==/ (PCB) mg/ 0 fritsnaeze ] FREEYT | BT | BT | ey
{75 i 9 |FV/arTFL mg/0| 0.03LLF | <0.001 | <0.001 | <0.001 | <0.001
f’? BE | 10| 7 hT7/aa=FLy mg/0 0.01LAF | <0.001 | <0.001 | <0.001 | <0.001
1% ;f 11| ramarz mg/0| 0.02LLF | <0.002 | <0.002 | <0.002 | <0.002
% ;’E; 12 | AL AR R mg/0|0.002L4 | <0.0002 | <0.0002 | <0.0002 | <0.0002
A e | 13[1,2-Y 7oz mg/0[0.004LL F| <0.0004 | <0.0004 | <0.0004 | <0.0004
— %\ 14(1,1-YrrrTFL o me/0| goay e | <0.001 | <0.001 | <0.001 | <0.001
N AR e N e mg/0| 0.04LLF | <0.001 | <0.001 | <0.001 | <0.001
% 46; 16(1,1,1-h)7moxsy mg/0| 1LATF | <0.001 | <0.001 | <0.001 | <0.001
J?;‘? f;z 17]1,1,2-N) 7=z mg/0[0.006L4 | <0.0006 | <0.0006 | <0.0006 | <0.0006
B (95 [ 18]1,3-Yrrr7rm~ mg/0[0.002L4 F| €0.0002 | <0.0002 | <0.0002 | <0.0002
?g £ 19|~ P mg/0 0.01LLF | <0.001 | <0.001 | <0.001 | <0.001
iy % 20 [F U7 A mg/0[0.006L4 | <0.0006 | <0.0006 | <0.0006 | <0.0006
f%ﬁi a2l |rvvr mg/0[0.003L4 F| €0.0003 | <0.0003 | <0.0003 | <0.0003
e ﬁ,ﬁ 22 |[FARINT mg/0| 0.02LLF | <0.002 | <0.002 | <0.002 | <0.002
T2 |23 mg/0| 0.01LLF | <0.001 | <0.001 | <0.001 | <0.001
— E 24 |BRARE mS/m - 46.7 43.2 17.2 36.5
2550 mg/0| 0.8LLF | <0.05 <0.05 0.07 <0.05
i;f 26 12556 mg/0| 1LATF <0.1 <0.1 0.1 0.1
K| 27 AR TEEE SR K VIR EAYE SR B [me/0| 1O0BLF 1.2 0.7 0.6 1.2
?; 28 (b =L E/ ~— mg/0[0.002L4 F| €0.0002 | <0.0002 | <0.0002 | <0.0002
29 [1,4-A %W mg/0| 0.05LLF | <0.005 | <0.005 | <0.005 | <0.005
i | 30 [# A wreanl  1PLF - 0.023 -
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TR KEREME (MTA R

L% H H N7 JEUEfE | 4H26H | TH13H [10H198 | 1H12H
%;é 1 |7 L3 Lk ER mg/ 0| sitshencel iR AT | R | T | i
Bi gz | 2 |#askER mg/0{0.000524 F| <0.0005 | <0.0005 | <0.0005 | <0.0005
2% ;f 3 [mr3ma me/0| mroat | <0.001 | <0.001 | <0.001 | <0.0003
& D 4 |50 mg/0 0.01LLF | <0.001 | <0.001 | <0.001 | <0.001
ﬂzj ?Z 5 |l mg/0| 0.05LLF | <0.02 <0.02 <0.02 <0.02
T i% 6 |t mg/0| 0.01LLF | <0.001 | <0.001 | <0.001 | <0.001
;J)< j);% T|\EYTY mg/ O mitisneoze] T | T | ST | e
)7%{2 % 8 |RVHi{ke 7 ==/ (PCB) mg/ 0 fritsnaeze ] FREEYT | BT | BT | sy
/75 i 9 |FV/arTFL mg/0| 0.03LLF | <0.001 | <0.001 | <0.001 | <0.001
f;ﬁ BE| 10| 7 ~hT77ma=FL mg/0 0.01LAF | <0.001 | <0.001 | <0.001 | <0.001
1% ;f 11| ramarz mg/0| 0.02LLF | <0.002 | <0.002 | <0.002 | <0.002
% ;'E; 12 | AL AR R mg/0|0.002L4 | <0.0002 | <0.0002 | <0.0002 | <0.0002
e | 13|1,2-Y7nnxm iy mg/0[0.004LL F| <0.0004 | <0.0004 | <0.0004 | <0.0004
— %\ 14(1,1-YrrrTFL o me/0| goay e | <0.001 | <0.001 | <0.001 | <0.001
N Ui | 16|V A-1,2-Y /=T L mg/0| 0.04LLF | <0.001 | <0.001 | <0.001 | <0.001
% LE 16(1,1,1-h)7mox4y mg/0| 1LATF | <0.001 | <0.001 | <0.001 | <0.001
J?;‘? § 17]1,1,2-N) 7=z mg/0[0.006 L4 | <0.0006 | <0.0006 | <0.0006 | <0.0006
ag [ 17 | 18]1,3-Y/rr7rm~ mg/0[0.002L4 F| €0.0002 | <0.0002 | <0.0002 | <0.0002
g £ 19|~ Pr mg/0 0.01LLF | <0.001 | <0.001 | <0.001 | <0.001
iy % 20 (FU 74 mg/0[0.006L4 | <0.0006 | <0.0006 | <0.0006 | <0.0006
f%ﬁi |2l [rvor mg/0[0.003L4 F| €0.0003 | <0.0003 | <0.0003 | <0.0003
e Q‘; 22 |[FARINT mg/0| 0.02LLF | <0.002 | <0.002 | <0.002 | <0.002
T2 |23l mg/0 0.01LLF | <0.001 | <0.001 | <0.001 | <0.001
— E\ 24 BRI E mS/m - 15.1 19.9 14.6 33.9
2550 mg/0| 0.8LLF | <0.05 <0.05 <0.05 <0.05
i;f 26 12556 mg/0| 1LAF <0.1 <0.1 0.1 0.1
K| 27 (AR TEEE SR R VIR EAYE SR B [me/0| 10BLF 0.3 0.1 0.1 0.4
?2'22 28 (b =L E/ ~— mg/0|0.002L4 | <0.0002 | <0.0002 | <0.0002 | <0.0002
29 [1,4-VAFH mg/0| 0.065LLF | <0.005 | <0.005 | <0.005 | <0.005
i | 30 [# A wreanl  1PLF - 0.021 -
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RR23EE KEREER (HBiiK)

HR H H HAr| EEYEfE | 47260 | 7H13H | 10198 | 1A12H
1 |7 VLV KERIL S mg/ Q| fitishancy) FRIHET | BT | BT | i
2 [kerr o7 e ke oo kA |meg/0[0.005LL F| <0.0005 | <0.0005 | <0.0005 | <0.0005
3 | BRIV LR RZEDILEDY mg/0| 0.1LLF <0.01 <0.01 <0.01 <0.01
4 |8h B O DAL E W) mg/0| 0.1LLF <0.01 <0.01 <0.01 <0.01
" 5 [EH LSy mg/0| 1LLF <0.05 <0.05 <0.05 <0.05
| g |6 N ANy ) mg/0| 0.5LL°F <0.05 <0.05 <0.05 <0.05
o |3 |7 tE K O DILEW mg/0| 0.1LLF <0.01 <0.01 <0.01 <0.01
| [ 8 IZ T ALEMET T ) mg/0| 1LAF <0.1 <0.1 <0.1 <0.1
5l o | 9 | RV 7 ==L (PCB) mg/0]0.003LL | <0.0005 | <0.0005 | <0.0005 | <0.0005
1B & | 10|R)7oacFL mg/0| 0.30LF | <0.001 <0.001 <0.001 <0.001
B Fro7anmFr mg/0| 0.1LLF | <0.001 <0.001 <0.001 <0.001
E f% 12| ram Az mg/0| 0.20LF | <0.002 | <0.002 | <0.002 | <0.002
%ﬁ ;}75.7 13 |PUsEAk ik 5 mg/0| 0.02L4F | <0.001 <0.001 <0.001 <0.001
ok |z |14 1,2-Y7anTyy mg/0| 0.04LLF | <0.001 <0.001 <0.001 <0.001
Al ds|L1=rron=FLy mg/0| 0.20LF | <0.001 <0.001 <0.001 <0.001
| pE |16 A-1,2-Y 7T L mg/0| 0.4LLF | <0.001 <0.001 <0.001 <0.001
e | 3 17]1,1,1-R) ooz mg/0| 3LLTF <0.001 <0.001 <0.001 <0.001
~|BE|18]1,1,2-F)ymo=x mg/0| 0.06LLF | <0.001 <0.001 <0.001 <0.001
| 19]1,3-07aaru~ mg/0f 0.02LAF | <0.001 <0.001 <0.001 <0.001
% fg 20|F 7 2 mg/0| 0.06LLF | <0.006 | <0.006 | <0.006 | <0.006
a | 21|y~ \ mg/0| 0.03LLF | <0.003 | <0.003 | <0.003 | <0.003
o | 22| FANINT meg/0| 0.2LLF | <0.02 <0.02 <0.02 <0.02
AL 23| B mg/0| 0.1LLF | <0.001 <0.001 <0.001 <0.001
45124 JZI/‘/&U“%@{K/\% mg/0| 0.12LF | <0.01 <0.01 <0.01 <0.01
5 | 25 [1ZHFR K OZEDILEY mg/0| 50LL T <1 <1 <1 <1
(2| 26| 5oFE K OZDILEY mg/0| 1504 F <0.5 <0.5 <0.5 <0.5
ﬁ% 27 |7oe=7. 7oe=vapon, mwmeomkomzican |mg/0l 20000 T <0.5 0.5 <0.5 0.5
i | 2 (28 KT A A e (pID) - | 58~86] 7.2 6.9 7.5 7.1
E % 29 | A=A ERSE 2R E(BOD) |me/0| 1084 T <0.5 <0.5 <0.5 0.5
&1 30 fEZARYARSE BORE(CODMN)  [mg/0] 10LA 2.3 2.1 0.6 1.6
U o B ERSS) me/0| 10DLF <1 2 1 1
| 1 [ 32| /v v~y A R [meg/0| 5LLF <2 <2 <2 <2
= | e [33 [ rensr i a@mmi® [me/0] 3050 2 2 2 Q2
% jaf_: M| 7=/ — NVFEEH & mg/0| SLLTF <0.5 <0.5 <0.5 <0.5
FE sz AR me/] 3ULF | <0.1 <0.1 <0.1 0.1
X bg 36 |Tgn 2 A me/0| 200 F 0.1 0.1 0.1 0.1
i PN VSR SR o A = mg/0[ 10LL T <0.1 <0.1 <0.1 <0.1
| A | 38 |IEfRE~ A mg/e| 10LAF | <0.1 <0.1 <0.1 <0.1
;;g 9| arshH & mg/0| 2LLTF <0.05 <0.05 <0.05 <0.05
5 40 | RIBERESL #/crm’| B 30000 <10 <10 <10 <10
g Al [ZERE AR mg/0| 1024 F 1.4 1.2 0.8 0.6
- 42 |1 E A & mg/0| 16LLF 0.21 0.13 0.14 0.09
o [ 43 |5 A wersan|  10LLF - 0.0023 -
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